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a. Describe the motion of the car during each of the four parts of its motion.
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b. Construct a dot diagram for the car's motion.

PRI Ty — e~ 3~ —2r3
‘to 'Ew tzo {-30




(205,15 mis) (20 5,15 mi=)

16,07 s
12.0 (102, 10 /=)
-'; .00
=
= 4.004
oo0+—————F—+r+—+ 77T T T 7T T T T T T T T T T T+
oo 400 203 120 10 200 240 220 IR0 Ze0
t (=)
c. Determine the acceleration of the car during each of the four parts of its motion. PSYW
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d. Determine the displacement of the car during each of the four parts of its motion. PSYW
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